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class Point {

private:
double _x;
double _y;

public:
Point{ } - x{0), ¥(D}{}

double getX({ ) const {
retum _x;

¥

void setX{double val) {
= = val;

¥

double getY( ) const {
return _y;

}

void setY{double val) {
-y = val;

1/ explicit declaration of data members

// constructor

/[ accessor

// mutator

!/ accessor

// mutator
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class Square : public Rectangle {

public: \
Squarz( double size=10, Point center=Paint{ )] : d\AL\& C/\C\S S U\H\\
Rectangle(size, size, center) // parent constructor Cb\\ —\\S
() CarN IS

void setHeight{double h} { setSize(h]; }
void setWidth(double w) { setSize{w); }

void izz{ double size) {
Rectangle: syt\Width(size); Jf make sure to invoke PARENT wversion
actangle: setHeight(size); /f make sure to invoke PARENT wersion

;

N
ety | |
SN double gztSize{ ) const { return getWidth( }; }

boo ff end of Square
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bool isOrigin{ Point pt)
return pt.getX| | == 0 && ptgety( ) == 0;
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bool isDrigi Pointé pt) {

return pt.geti] | == 0 && ptgety( ) == 0 :()'&‘ =K
) -
=1
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ostrea@operamr{{[ostrea@out, Point p) {

oyt = Nl e p.get}{[ ] < ||:|| < p.getY[ ]I < il
return cut;

;
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